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Tuesday, 1/21/25 

 

Review of Solid State Physics, Continued 

1. Background 

Let “n” be the density of conduction (or free) electrons. 

[n] = e-/cm3 

For intrinsic Si: ni = n 

Remember from last time that ni is the intrinsic carrier density and                     

𝑛௜
ଶ ൌ 𝐵𝑇ଷ𝑒

ିாಸ
௄்ൗ . 

For single crystal (monocrystalline) Si: there are 4 covalently bonded Si atoms: 

 

When energy, E, is applied such that E ≥ EG, this results in the creation of an 
electron-hole pair: 

 → electrons can move anywhere 

 → holes can only move about the crystal lattice 

Electrons (-q) and holes (q) are charge carriers where q = 1.62x10-19 C. 

Define “p” as the “hole density.”  [p] = holes/cm3 

 

For intrinsic Si: ni = n = p. 

Also, 𝑛௜
ଶ ൌ 𝑝𝑛 → whenever there is thermal equilibrium without external stimulus 

(voltage, current, light, etc.). 
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“ρ” is the electrical resistivity. 

𝜌 ൌ
ଵ

ఙ
   where σ is the electrical conductivity 

 

2. Drift Currents 

Charged particles move (or drift) in response to an applied electric field.  This 
results in a drift current, j, where: 

j = Qv,  [j] = A/cm2 

Q is charge density, [Q] = C/cm3 

v is charge velocity in the electric field, and is also called “carrier drift 
velocity.” 

[v] = cm/s 

 

Positive charges move in the direction of the electric field, and negative charges 
flow in the opposite direction of the electric field. 

For low electric fields (of interest to this class): v is proportional to E, leading to: 

 𝑣⃗௡ ൌ െ𝜇௡𝐸ሬ⃗  

 𝑣⃗௣ ൌ 𝜇௣𝐸ሬ⃗  

Where 𝑣⃗௡ is the velocity vector for electrons 

  𝑣⃗௣ is the velocity vector for holes 

  𝜇௡ is the electron mobility: 1350 cm2/V for intrinsic Si 

  𝜇௣ is the hole mobility, 500 cm2/V for intrinsic Si 

Notice that 𝜇௡ >  𝜇௣.  This is because electrons can move freely though the crystal 
while holes can only move about the crystal through the covalent bond structure. 

Let’s define electron and hole drift current densities: 𝑗௡
ௗ௥௜௙௧ and 𝑗௣

ௗ௥௜௙௧, respectively. 

[𝑗௡
ௗ௥௜௙௧, 𝑗௣

ௗ௥௜௙௧] = A/cm2 
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Let’s consider simplified 1-D vectorless equations for 𝑗௡
ௗ௥௜௙௧ and 𝑗௣

ௗ௥௜௙௧: 

𝑗௡
ௗ௥௜௙௧ ൌ 𝑄௡𝑣௡ ൌ ሺെ𝑞𝑛ሻሺെ𝜇௡𝐸ሻ ൌ 𝑞𝑛𝜇௡𝐸 

𝑗௣
ௗ௥௜௙௧ ൌ 𝑄௣𝑣௣ ൌ ሺ𝑞𝑝ሻ൫𝜇௣𝐸൯ ൌ 𝑞𝑝𝜇௣𝐸 

Then we can define the total drift current density: 𝑗்
ௗ௥௜௙௧: 

𝑗்
ௗ௥௜௙௧ ൌ 𝑗௡

ௗ௥௜௙௧ ൅ 𝑗௣
ௗ௥௜௙௧ ൌ 𝑞൫𝑛𝜇௡ ൅ 𝑝𝜇௣൯𝐸 ൌ 𝜎𝐸 

“σ”: is the electrical conductivity, where: 

𝜎 ൌ 𝑞൫𝑛𝜇௡ ൅ 𝑝𝜇௣൯ 

[σ] = (Ω∙cm)-1 

“ρ” is electrical resistivity: 𝜌 ൌ
ଵ

ఙ
 

Note: 𝜌 ൌ
ா

௝೅
೏ೝ೔೑೟:  Ω ∙ 𝑐𝑚 ൌ

௏ ௖௠ൗ
஺
௖௠మൗ

 → Ω ൌ
௏

஺
 → Ohm’s law… 

 

3. Doping 

Doping is the process of adding impurities to the intrinsic semiconductor material. 

Donor impurities: elements with one extra electron in their outer shell compared to 
the intrinsic semiconductor material. They will donate electrons. 

Acceptor impurities: elements with one less electron in their outer shell compared 
to the intrinsic semiconductor material. They will donate holes. 

Silicon is a Column IV element: it has 4 valence electrons in its outer shell. 

Consider the periodic table below: 
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(https://www.ajax4hire.com/Periodic_Table/Periodic_Table_of_Elements(hmpublishing.com).jpg) 

 

Observe that while Si is a class IV material, class V materials (such as P, As, and 
Sb) have 5 electrons in their outer shell, and are therefore Donor Materials. 

Likewise, class III materials (such as B and Al) have 3 electrons in their outer 
shell, and are therefore Acceptor Materials. 

After an intrinsic semiconductor material has had a donor impurity added to it, it 
then requires very little thermal energy for a donor atom to give up its “extra” 
electron for conduction.  

 This, however, results in a fixed +q charge which stays fixed in the crystal 
 lattice. 
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Similarly, after an intrinsic semiconductor material has had an acceptor impurity 
added to it, it is very easy for a nearby electron to move into this vacancy, creating 
a hole (i.e. vacancy) where the electron moved from in the covalent bond structure.  
The hole then can move through the crystal lattice: when an electron moves out 
and a hole moves to that atom, it has a +q charge.  Each acceptor atom that accepts 
an electron has a –q immobile charge in the crystal lattice at that location. 

This is illustrated pictorially below: 
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Due to doping impurities: if n > p: the material is called “n-type.” 

     If p > n: the material is called “p-type.” 

The carrier with the larger population is called the “majority carrier.” 

The carrier with the smaller population is called the “minority carrier.” 

Define “ND” as the donor impurity concentration: [ND] = atoms/cm3. 

Define “NA” as the acceptor impurity concentration: [NA] = atoms/cm3. 

Note: after doping, the semiconductor material is still charge neutral. 

Therefore: 𝑞ሺ𝑁஽ ൅ 𝑝 െ 𝑁஺ െ 𝑛ሻ ൌ 0. 

Also: 𝑝𝑛 ൌ 𝑛௜
ଶ still. 

 

Electrical conductivity for a doped semiconductor: 

For an n-type material: 𝜎 ≅ 𝑞𝜇௡𝑛 ≅ 𝑞𝜇௡ሺ𝑁஽ െ 𝑁஺ሻ. 

For an p-type material: 𝜎 ≅ 𝑞𝜇௣𝑝 ≅ 𝑞𝜇௣ሺ𝑁஺ െ 𝑁஽ሻ. 

Observe that increasing the dopant also increases the electrical conductivity. 

 

4. Non-uniform Doping 

When the doping is non-uniform, a gradient in the electron and hole concentration 
results. 

This causes diffusion currents in the semiconductor. 

Define: Dn as the electron diffusivity: [Dn] = cm2/s. 

    Dp as the hole diffusivity: [Dp] = cm2/s. 

Now consider Einstein’s relationship: 

 
஽೙
ఓ೙
ൌ

௄்

௤
ൌ

஽೛
ఓ೛

 

You should recognize 
௄்

௤
 as the thermal voltage, which is approximately 25 mV at 

room temperature. 
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Define 𝑗௡
ௗ௜௙௙ and 𝑗௣

ௗ௜௙௙ as the n and p diffusion current densities: 

 𝑗௡
ௗ௜௙௙ ൌ ሺെ𝑞ሻ𝐷௡ ቀെ

డ௡

డ௫
ቁ ൌ ൅𝑞𝐷௡

డ௡

డ௫
,   ൣ𝑗௡

ௗ௜௙௙൧ = A/cm2 

𝑗௣
ௗ௜௙௙ ൌ ሺ൅𝑞ሻ𝐷௣ ቀെ

డ௣

డ௫
ቁ ൌ െ𝑞𝐷௣

డ௣

డ௫
,    ൣ𝑗௡

ௗ௜௙௙൧ = A/cm2 

 

5. Total Current 

The total current in the semiconductor material is equal to the sum of the drift 
current and the diffusion current: 

𝑗௡் ൌ 𝑞𝜇௡𝑛𝐸 ൅ 𝑞𝐷௡
𝜕𝑛
𝜕𝑥

ൌ 𝑞𝜇௡𝑛 ൬𝐸 ൅ 𝑉
1
𝑛
𝜕𝑛
𝜕𝑥
൰ 

𝑗௣் ൌ 𝑞𝜇௣𝑝𝐸 െ 𝑞𝐷௣
𝜕𝑝
𝜕𝑥

ൌ 𝑞𝜇௣𝑝 ൬𝐸 ൅ 𝑉
1
𝑝
𝜕𝑝
𝜕𝑥
൰ 

 

6. Energy Band Model (for a semiconductor) 

Define these terms: 

“Ec” = Conduction Band: the lowest energy level in the conduction band. 

“Ev” = Valence Band: the highest energy level in the valence band. 

“EG” = Bandgap Energy: EG = Ec - Ev 

The creation of an electron-hole pair can be represented pictorially: 

 

In the drawing above, an electron-hole pair is created when an electron moves 
from the valance band to the conduction band.  For example, due to thermal 
energy.  The electron cannot have an energy level between Ec and Ev. 
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a. For n-type Semiconductor 

Let ED be the donor energy level (near the conduction band edge). 

 

ED is so close the EC that almost all electrons at ED have moved to the CB and are 
available for conduction. 

 

b. For a p-type Semiconductor 

Let Ea be the acceptor energy level, which is near the valence band edge. 

 

Ev is so close to Ea that almost all acceptor sites are filled, leaving holes in the 
valence band for conduction. 
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c. Compensated semiconductors 

Compensated semiconductors have both donor and acceptor impurities. 

Electrons seek the lowest energy state, and fill all available acceptor sites. 

The remaining free electron population is n: n = ND – NA. 

 

 

 

 


